Sr

Questions

They went where living was comfortable . The underline words is a.

He drives a car in high speed. The underline words is a.

Choose the correct option.He has arrived safely. The underline word is an adverb of

He has done his homework. The tense is.

Answers Choice

A. Noun phrase

B. Adjective clause
C. Adverb clause
D. Noun clause

A. Noun phrase

B. Adverb phrase
C. Ajective phrae
D. Adverb clause

: botha a and b

. Past perfect
. Present perfect

B
C
D
A. Future perfect
B
C
D. Present indefinite



